Diate: Image id: Catalogue: Model:

13.08.2021 1090993 20605 L1206

Brand: Senial: Group/Section; Title:

Velve - 92513/610 Bucket, straight lip, alt. edge savers or teeth L150H

8 P

1060883
Section option |Kit Option description
VOE&T125 Bucket 3.8 m3, hook on straight for Bolt-on system
VOEBT108 Bucket 4.3 m3, pin-on straight for bolt-on system
VOEBT102 Bucket 3.8 m3, pin on straight for Bolt-on system
Q1-Q5 Option Option description
Q187102 VOEBT102 Bucket 3.8 m3, pin on straight for Bolt-on system
02 87108 VOEBT108 Bucket 4.3 m3, pin-on straight for bolt-on system
03 87125 VOEBT125 Bucket 3.8 m3, hook on straight for Bolt-on system
Pos |Part Q1 |Q2 |Q3 (@4 |Q5 |PS |Kit |Description Option(s) |Remark
1 NS Bucket See footnote 50 3,8
m3, WID=3000 mm
1 NS Bucket See footnote 50) 4,2
m3, WID=3000 mm
1 VOET1156279 1 1 1 «Cutting edge
2 VOET1111811 2 2 2 “Wear plate
3 VOET11142571 8 8 «Square neck screw
3 VOET1142570 a sSquare neck screw
4 VOE948836 il 8 a sLack nut
5 1 1 1 Bolt on edge VOEEES11
6 REQY |RECY |REC Adapter VOEE2749  |LAZ20BMN40D
6 RECQy |RECY |REC2 Adapter VOEE2T754 |0 SZ, LASDENAD
7 REQ |REC [RECY Tooth VOEB2750, |20GPL 20AML,
VOEBZ2751, |20AMRL
WVOES3879
7 RECQ |REQ |REC Tooth VOES82755, |O SZ, 30GPL, 30AML,
VOEB2T56, |30AMERL
VOEB2757
] RECQ) |RECY |REQ Seqgment VOEB7266
500 Direct-mounted (pin-on).
68) Bracket-mounted (hook-on).

rys. 15 zeby_Volvo L150H



